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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.-

2. The paper is divided in three sections A, B & C. All questions from each sect;-on
should be attempted together.

3. Al questions are compulsory.

4. Answers may be written either in English or Hindi; but the same medlum should
be used throughout the paper.
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1. {a) How is National Income distributed to factors of production ? %)
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Explain the credit-creation pfocess under the modern Fractional Reserve
Banking System. . )
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What makes the demand for the economy’s output of goods and services
equal the supply ? _ (5)
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Explain James Tobin’s portfolio aﬁproach to-demand for money. (10)
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Show the derivation of IS curve. Which factOrs’._det,emiine the siope and
position of IS curve ? _ o (10). -
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What is multiplier ? Show it diagrammatically. (5)
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Show the effect of expansionary monetary policy on equilibrium income &
output with the help- of transmission mechanism. - -.(10) '
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3.

3
) Expléin the derivation of Aggregate Demand Curve from IS-LM Model,
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Given the following information :

Consumption C=90+08yd
| Investment I=150- 6i
- Govt. Expenditure - - G =40
Taxes T = 50
DD for Money " L=02Y-4
Nominal SS for Money ' Ms = 300
Price level . P=3

(@) Determine equilibrium level of income & the rate of interest.

(b) Calculate ﬁscal policy multiplie;r.

(c) Ifithe full employment level of i Income is 950, what is the required increase
in govt. expenditure ?°
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AT TR P=3
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Consumption C = 100 +0.8Yd
Investment = 150~ 16i
" Government Expenditure G =100
- Taxes ’ o T=025Y
DD for Money L= 0.2Y-2i
Nominal Money Supply Ms = 300
Price level P=2"

- (c) Is there any crowding out ? If, 'yes, what is the extent of crowding out of’

(a) Determine equilibrium income & the rate of interest.

(b) If government expenditure increases by 50, what will ‘be_the new equilibrium
level of income and the rate of interest 7

income 7 : - (6+5+4)
JARAT L C= 100+ 0.8Yd
fardm | I = 150 - 16i
mr&'m G =100
W T = 0.25Y
I oW AT L=02Y-2
Fafw @ f I Ms = 300
LGRS ' P=2
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(a) Explain the derivation of upward sloping short run Aggregate Supply
Curve. ' o (8)
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{b) Explain ‘Gradualism’ and ‘ColdTurkey’ strategies to réducc inflation. (7)
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(a) Explain the effects of expansionary fiscal policy on equilibrium income and
" inflation rate in a dynamic framework. (8)
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®) Distinguish between Phillips Curve & Expectation Augmented Phillips
Curve. . ' , N
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(a) What is trade balance in a small open economy ? How fiscal policy at home
& fiscal policy abroad influence the trade balance. (10)
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(b) Differentiate between nominal & real exchange rate. - ' (5)
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(a) Differentiate between small open economy & large open economy.

Determine the equilibrium real interest rate and real exchange rate in large -
open.economy. ' (10)
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(b} Explain the derivation of Aggregate Demand Curve with the help of Mundell-
Flaming Model in smail open economy. - . (5)
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